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Part A

Section Id : 920906529
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906859
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 92090626725 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

fArAfafad Y & smuR W Uyl & IR e -

gieal ¥ 3FH 3R ufdyr theq ardl 39 ardedl 3 W itdd o9 & 79 | o)
I3t g1, FeaT SR [y o & § 6 7o oieg 89 &1 0aR A giall SR @l
ISR 1 WHR $I B UKd ol dfHd AR oI Ui & Hg Jrsdl g1 A9l HT ISR
YNUEH HaRI T Gg [dAY FA @Al ¢1 91d dP dRdiddal ®1 el UgdiH dd del
a1 @1 FHmior 781 e S, gida feam arar Gg 396 faviy &1 ISR gl &, [ 9 &
B A8l g

BRI H YHIGETE] WRBR & dle HH-YUR 1] §UI 89RI Uhsi & Y Arfcrs
Gl B SHHE BiFaR Y feaEl @1 & oF @ h wfedt @ dfd ok aiftd YR
fErami ¥ o/F Fel — 39 WH &I FHF | § 4 §19 Uhs qH @ o), @ s A odTd 31 - derd
fael $ad! U B A R FHedll By HR A7 3R, 1 Iod B 3T H Fe g! HAHd W
&1 bl 1 Sd1d &1l | dial-dran g ¢l wnfgu fdt &t safi

Sub questions

Question Number : 1 Question Id : 92090626726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S{efayr A arell dredl A o1 Y, et 3R [y el o &3 82

(1) A ufas & A (2) NS H A
(3) W UIfSd & & | | @) TPIFiFHAH
Options :

920906105601. 1
920906105602. 2
920906105603. 3
920906105604. 4

Question Number : 2 Question Id : 92090626727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I & ISR 1 WIHR H3 &1 d4R T8l 62

(1) oH 2) &
(3) g (4) 44
Options :

920906105605. 1
920906105606. 2
920906105607. 3
920906105608. 4

Question Number : 3 Question Id : 92090626728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B # YA YR & 1] gU?

(1)  YHEAK] WER & 9l 2) FUY IR $ 9l
(3) SO W¥PR & dIg 4) Thgd WER H dIg
Options :

920906105609. 1
920906105610. 2
920906105611. 3
920906105612. 4

Question Number : 4 Question Id : 92090626729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

weId faa dad &1 1 3 82

(1)  HAFI 9elgd &1 &1 gl (2) ATEAIUS Bl gl
) GRO THARTST IS Al (4) T TS Hal gl

Options :

920906105613. 1
920906105614. 2
920906105615. 3
920906105616. 4



Question Number : 5 Question Id : 92090626730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hfdd G aren Wg fhas fady &1 RieR g2

() o€ 98 gad AT Iredi g | (2) ToFR 98 gad g1 AEar gl
(3) g 98 g 78 AT Frgar g (4) T8 371 wedm e 3|

Options :

920906105617. 1
920906105618. 2
920906105619. 3
920906105620. 4

Question Id : 92090626725 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

FAfafad Teiw & SR W Ui & IR e -

giedi ¥ 3 iR sfufay™ T arell 39 didal 3 W Wifsd o9 & 79 | o
At g1, FeaTl iR [ayr o & § 6 (oW oieg 89 @1 daR T8 giall SR @l
ISR g WeHR $3 B Uxd el dfed SHfUER & wiftg & He Orsdl g1 9 $1 RIeR
YU aRI 1 Gg [dAY FA @Al ¢1 o/d d dRdiddwal &1 Hel g dUd dal
o1 &1 Aoy 1€ frar o, gfdd Rar arer @g 39% 3Ry &1 RIeR g g, 7 98 gaa
BN Il B

B H GHISEE] TR & 91 YH-JUR aF gU| g9kl Udhe! & Yl wifes
Gl B ol e Yt feael &1 4 o it afedl 9 9 o fta e
a9 o/d Fel — 39 GH B T 4 4 619 v o d o), @ P A 9a1d 391 - agia
faell Fad! g 1 SHH W Foall HY R 2 3R, T oG B M H Sl g! AW W
W1 6l 1 Sfd1d 37| dia-dian g =81 Fifgu fadt &t sl

Sub questions

Question Number : 1 Question Id : 92090626726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sfefasra Temm arell dredl A 3 He, et 3R fayra el o fad g2

(1) A wfas & AT H (2) NS S HAH
(3) UM UIfSd oH & A H 4y fPaAId A H
Options :

920906105601. 1
920906105602. 2
920906105603. 3
920906105604. 4

Question Number : 2 Question Id : 92090626727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R T ISR 1 WHR 6 B 9UR Tl 22

(1) oH 2 &
(3) g (4) S4O4
Options :

920906105605. 1
920906105606. 2
920906105607. 3
920906105608. 4

Question Number : 3 Question Id : 92090626728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EMARE # HH YR & 1] gu?

(1) HHSERE! PR & €[5 (2) HEY DR & dlg
(3)  MISUI PR & dIg @4) dIPed WHR & dlg
Options :

920906105609. 1
920906105610. 2
920906105611. 3
920906105612. 4



Question Number : 4 Question Id : 92090626729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wTeId faa daa &1 1 3 &2

(1)  HAHI §gIgd &1 & g (2) AEAITS Hdl g
3) GBI AHARBeNPABIAl  (4) U Hal gl

Options :

920906105613. 1
920906105614. 2
920906105615. 3
920906105616. 4

Question Number : 5 Question Id : 92090626730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hidd 3R are 9g fFae fady 1 ReR 82

(1) 52 98 Yod HYAT AR 2| (2) 58 98 gad ST Iedi ¢
(3) forg 98 Yad 71 S TrgdT | (4) g 31 wedi firer 2

Options :

920906105617. 1
920906105618. 2
920906105619. 3
920906105620. 4

Sub-Section Number : 2
Sub-Section Id : 920906860
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090626731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafefad # @ arae @f fafgd $ifee

1y (2) ™
3 < @ U
Options :

920906105621. 1
920906105622. 2
920906105623. 3
920906105624. 4

Question Number : 6 Question Id : 92090626731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafaa 7 @ arae @l Rt Fifu:

(1) @ (2)
(3 < 4 U
Options :

920906105621. 1
920906105622. 2
920906105623. 3
920906105624. 4

Question Number : 7 Question Id : 92090626732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hare H &1 | I 87

1y = (2) §H
3) ¥ 4 91
Options :

920906105625. 1
920906105626. 2
920906105627. 3
920906105628. 4



Question Number : 7 Question Id : 92090626732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty # 19 91 I §?

1y (2 ¥
@3 3 4) 91
Options :

920906105625. 1
920906105626. 2
920906105627. 3
920906105628. 4

Question Number : 8 Question Id : 92090626733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HETG B! Yol &I oIl g1 W F8Tge 31 87

(1) fo (2) HRE
(3) HEl (4) oo
Options :

920906105629. 1
920906105630. 2
920906105631. 3
920906105632. 4

Question Number : 8 Question Id : 92090626733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eI B! Gl Bl Il g1 T JgTg &1 82
(1 f (2) BRD
(3) Hal (4) fagmo



Options :

920906105629. 1
920906105630. 2
920906105631. 3
920906105632. 4

Question Number : 9 Question Id : 92090626734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffafaa ¥ § SeR Wl # S 91 Wrsg gfew 82

(1) (2) =
(3) ddd @) A
Options :

920906105633 1
920906105634. 2
920906105635. 3
920906105636. 4

Question Number : 9 Question Id : 92090626734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ffafad & @ SHRI Usal H S a1 Wsg Yfewd 1 82

(1) O 2) A<
(3) dHd @ I
Options :

920906105633. 1
920906105634. 2
920906105635. 3
920906105636. 4

Question Number : 10 Question Id : 92090626735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafefad # 9 g 91 vgaie:

(1) UP g urE are | (2) U Ul & e ansi|
(3) U frdrd ur-l &1 aredl| (4) Ul &1 UE e arsi|
Options :

920906105637. 1
920906105638. 2
920906105639. 3
920906105640. 4

Question Number : 10 Question Id : 92090626735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fr=fafad @ 9 g 9/ ugaie:

(1) TP g ur=t ara| (2) U UHl &1 e anai|
(3) U frdrd urEt &1 aredl | 4) Ul &1 uE e arsii
Options :

920906105637. 1
920906105638. 2
920906105639. 3
920906105640. 4

Question Number : 11 Question Id : 92090626736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fe 5tan 6=12, Al cosf—sind & HA FTd BifU|

M - Gj. 2

13

1 27

3 -— 4] —

(3) 3 (4) 20
Options :

920906105641. 1



920906105642. 2
920906105643. 3
920906105644. 4

Question Number : 11 Question Id : 92090626736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fg 5tan #=12, Al cosf—sind B AF FId HifeU|

1 -1 2) —
(1) (2) &
w el gy, 2
(3) 3 4) 20
Options :

920906105641. 1
920906105642. 2
920906105643. 3
920906105644. 4

Question Number : 12 Question Id : 92090626737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fofl srafe o 60% FHERI U39 & | FRTTT & UH gA1d T 40% Alemsi aul 60% JSui 4
3= & ua T die fan s ! fire diel &1 ufawrd &:

(1) 42% (2) 50%
(3) 52% (4) 54%
Options :

920906105645. 1
920906105646. 2
920906105647. 3
920906105648. 4

Question Number : 12 Question Id : 92090626737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



{4l Frafay ¥ 60% FHAR] YN €| SRTad & TP g1 H 40% Afgesii a4 60% Joui A
3] & ug H die fan| 35 &1 el 91el &1 ufaerd @:

(1) 42% (2) 50%
(3) 52% (4) 54%
Options :

920906105645. 1
920906105646. 2
920906105647. 3
920906105648. 4

Question Number : 13 Question Id : 92090626738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A B ST B I I €1 a1 Has [l b1 &l 24 39 T QU1 &d €1 B bl 39 B
@ foba f&a J g v gbmm?

(1) 36 (2) 54
(3) 72 4 90
Options :

920906105649. 1
920906105650. 2
920906105651. 3
920906105652. 4

Question Number : 13 Question Id : 92090626738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A B BRIEHA B I AT &1 a1 HadR el 1 & 24 &9 § QU &d €1 B Sidhall 39 &l
@ fdbaH A | g1 6 gabmm?

(1) 36 (2) 54
(3) 72 4) 90
Options :

920906105649. 1



920906105650. 2
920906105651. 3
920906105652. 4

Question Number : 14 Question Id : 92090626739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATUI B S 2:3 B U & adl 39 g 4 : 5 S U H ¢ | afg I7®! a9d HHAL:
% 9,000 94T, ¥ 17,500 €, A A BI 319 F1d Hifeid|

(1) T 12,500 (2) ¥ 25,000
(3) T 37,500 (4) T 50,000
Options :

920906105653. 1
920906105654. 2
920906105655. 3
920906105656. 4

Question Number : 14 Question Id : 92090626739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATUIBHI AT 2:3H U & ayl I9d AT 4 : 5 F U § ¢ | IS I7! I9d HHA:
% 9,000 941, ¥ 17,500 €, 1 A B 319 J1d Pifeg|

(M ¥ 12,500 (2) ¥ 25,000
(3) T 37,500 (4) ¥ 50,000
Options :

920906105653. 1
920906105654. 2
920906105655. 3
920906105656. 4

Question Number : 15 Question Id : 92090626740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A A <1 axgsil & ¥ UAS B T 4,000 H o971 3R Fal DR I8 9 SIS arH gl IR A
PE g1 T U g 25% T T W1y 31 7T o g avg A9 WA g

2
(1) 20% 2) 18-%
9
9 3
(3) 16 5% (4) 151‘}
Options :

920906105657. 1
920906105658. 2
920906105659. 3
920906105660. 4

Question Number : 15 Question Id : 92090626740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fAfem 3 <1 axgsil ¥ @ UAS B T 4,000 ¥ 997 3R $ [AB IY  HIS A1H g3 R A &l
FTS B T T ag 25% T F WY 3 7 o g g §9 W @1 g

2
(1) 20% (2) 18%%
2 3
(3) 16 E% (4) 151%
Options :

920906105657. 1
920906105658. 2
920906105659. 3
920906105660. 4

Question Number : 16 Question Id : 92090626741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



s A3 $e U1 §, CHIRCAR @1 3214384 & ¥4 T 3R CROADS ®I 345867 & ¥4 &
Hicd &g STd1 81 39 U1 H HARTROADS &1 e & &4 o fed favar sramm?

(1) 812448567 (2) 281448576
(3) 284145867 (4) 285154876
Options :

920906105661. 1
920906105662. 2
920906105663. 3
920906105664. 4

Question Number : 16 Question Id : 92090626741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& A3 $e U1 H, CHIRCAR @1 3214384 & ®U H 3R CROADS &I 345867 & ¥4 &
@fcd & STdl 81 39 U H HARTROADS &1 e & &4 o fed favar sarm?

(1) 812448567 (2) 281448576
(3) 284145867 (4) 285154876
Options :

920906105661. 1
920906105662. 2
920906105663. 3
920906105664. 4

Question Number : 17 Question Id : 92090626742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 goi 30 [ g9 I uSl &1 g3l & ol &1 610 Jid SIS

(M 65" (2) 750
(3) 850 (4) 105°
Options :

920906105665. 1
920906105666. 2
920906105667. 3
920906105668. 4



Question Number : 17 Question Id : 92090626742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 g 30 T B9 WR Ut 31 Y3di & i &1 S0l Jid Dife|

@) 659 (2) 759
(3) 850 (4) 105°
Options :

920906105665. 1
920906105666. 2
920906105667 3
920906105668. 4

Question Number : 18 Question Id : 92090626743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fu U gw & So-yfdfara ST g g e “VAYU 84 3 6~

(M AVANB4E®Q
(20 AVANBY39
(3) AVANBH3R
4 AVANBTER

Options :

920906105669. 1
920906105670. 2
920906105671. 3
920906105672. 4

Question Number : 18 Question Id : 92090626743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e gm & Sa-ufafea FT At s Sifce«VAYU 84 3 6

() AVANB4E?Q
2y AVANB® 3@
(3) AVANBWY3Q
4 AVANBTER
Options :
9209061056609. 1
920906105670. 2

920906105671. 3
920906105672. 4

Question Number : 19 Question Id : 92090626744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3P (X) BT HEl qUUI-fcifara AT -
g -
SIPI (X)

@]

(2)

(3)

(4)

Options :
920906105673. 1



920906105674. 2
920906105675. 3
920906105676. 4

Question Number : 19 Question Id : 92090626744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P (X) BT el quu-Ufdfard gHT ;
% -
Mz
SHIA (X)
o
(2)
(3) o
@ o
Options :

920906105673. 1
920906105674. 2
920906105675. 3
920906105676. 4

Question Number : 20 Question Id : 92090626745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 € Sy RU U §: U ity A & w9 ¥ forfed § o gEv 39

PRUR B EUH gl

HUDBYT A :  TH 81 & TR HTHRN H SR I8d ¢, FiTd b9l gdl DI a1 A
T g91 HH TUA 8id! g

FRUIR : AYAHE F&H 91 19 &1 A{dH dedl 6

IR HY & Maid |, A1 AU 10 fdswedi 1 8 9l IR &1 994 Sifou

(1) A SIRRGH 98l € 3R, A P Ul TAT &

(2) A SIRREH HEl € AfPR, A T Ul RS 7ol &
(3) AUER AP RS TR

(4) ARG AfBTRIEE

Options :

920906105677. 1
920906105678. 2
920906105679. 3
920906105680. 4

Question Number : 20 Question Id : 92090626745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 € Sy GU U §: U siftdye A & w9 H forfed § ol gEv 39

PRUR B EUH gl

HUPYT A : THEA F [N SR H FHWR I3d §, Fifd ol gdl & ga-l A
TH a1 HH T 8idl 6

FRUR : A9HHE F&H 9 19 &1 {dH dedl g

TRIFd HYA & i H, A fou U fawedi § 3 9l It &1 994 Sifore
(1) ASIRRGH HEl & 3R, AP Ul A=A &

2) A SR RTH TE € dfba R, A BT HEl AR T8l 8

(3) ATEIR AP R IS T8

(4) ATSTEE AfFTRUER

Options :



920906105677. 1
920906105678. 2
920906105679. 3
920906105680. 4

Question Number : 21 Question Id : 92090626746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty HEmR & fae & fore it agefsr ufden S ERIYE B TR
(1) W4 Riweia (2) Sf18.&. ToRTA

(3) HHEA e 4) ofed faerd) g

Options :

920906105681. 1
920906105682. 2
920906105683. 3
920906105684. 4

Question Number : 21 Question Id : 92090626746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e wemnt & e & for w@ i Tqys ufasm & R IR B T |
(1 ddl RREIE (2) SMS.F. ToRTd

(3) wHREH g (4) ofed fagr areudt

Options :

920906105681. 1
920906105682. 2
920906105683. 3
920906105684. 4

Question Number : 22 Question Id : 92090626747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIERA K IC ATk -
Y| - MA3e A el 3 Aviiat I Fues & e Yag iR aig &t =ifa s 4t

HUF Il : IR GHIY 3R HR g8 gl Ha3g A Aol F RaR & Hid 4|
SR HYH & el |, 1 fau 71u fdswed] & 4 Tl I &1 999 $ifeiw

(1) ®UF | 3R 11 el §
(2)  HYFI R 1 EHI TTAd §
(3) HYTI TGS AfbTIHYT I TTAd §
(4) PYTI7Ad g, AlPA BT TSI &
Options :
920906105685. 1
920906105686. 2

920906105687. 3
920906105688. 4

Question Number : 22 Question Id : 92090626747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EICEA I AT 1S
DY | - HAIEA el 7 Al § e & o wad ok die @ Aifa sigam <

HYF Il SR G 3R HR g8 gl Har3e A Racroll & GRaR & &id 41
S HYF & 3Mclld 1, 1 fSu v fawedl 1§ 9 9l 3w &1 994 $ifeiw

(1) DY IMRNITA TS
(2)  HYAI R I EH Tad §
(3) ®UFITel g, Afbd YA 11 TTad &
(4) BYTITAd g, Al HUF 11 Tl 8
Options :
920906105685 1
920906105686. 2

920906105687. 3
920906105688. 4



Question Number : 23 Question Id : 92090626748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fpafafad ¥ @ oF W 3 3fEd 9 3 79 TR @ gl

() Rory - gew s (2) fad - am. pwngd
(3) UHed - MRl fiad @) = FR -G el
Options :

920906105689. 1
920906105690. 2
920906105691. 3
920906105692. 4

Question Number : 23 Question Id : 92090626748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fefafad 3 @ o 91 gm 3R © 9 3 3d 981 @i gl

()  Rary - g siar ) faul - 3R, Feongfd
(3) WEed - UGl i (@) "I PR - T el
Options :

920906105689. 1
920906105690. 2
920906105691. 3
920906105692. 4

Question Number : 24 Question Id : 92090626749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | & Fry g 11 B e Fifore

- (IF®) g (@rE®)
(A)  3FTeud 3fE (I) SETEREI Ag%
(B) sigurfeass () ST dregd I
© cfewadiameifgmr ) SOfcE G
(D) e Al (V) IS5 wE

19 fau U faeed] O 9 Hel It &1 994 Hifert:

(1) A-(ID), B-(IV), C-(I), D-(II)
2)  A-(ID), B-(IV), C-(I1I), D-(I)
3)  A-(IV), B-(II), C~(I), D-(I1I)
4)  A-(IID), B-IV), C-(I), D-(I)

Options :

920906105693. 1
920906105694. 2
920906105695. 3
920906105696. 4

Question Number : 24 Question Id : 92090626749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | & 91y gl 11 61 A Sifse

- (IF®) g (@rE®)
(A)  3FTeud 3fE (I) SETEREI Ag%
(B) sigurfeass () ST dregd I
© cfewadiameifgmr ) SOfcE G
(D) @™ Il (av) % TS

4 fSu U fadedl A A Wl It o1 994 ifee:

(1) A-(ID), B-(IV), C-(I), D-(II)
2)  A-(ID), B-(IV), C-(I1I), D-(I)
3)  A-(IV), B-(II), C~(I), D-(I1I)
4)  A-(IID), B-IV), C-(I), D-(I)

Options :

920906105693. 1
920906105694. 2
920906105695. 3
920906105696. 4

Question Number : 25 Question Id : 92090626750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U HiAId dR & dgR &1 3y & fou 7 &1 I fvar Srar g |
(1) BRI 2) R

(3) SRR 4) TR

Options :

920906105697. 1
920906105698. 2
920906105699. 3
920906105700. 4

Question Number : 25 Question Id : 92090626750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

% HiId IR & SIdgR &1 30U & fou 7 1 Iuh fHar Sar g

(1) BEUHR (2) WA
3) e (4) BISZHIR

Options :

920906105697. 1
920906105698. 2
920906105699. 3
920906105700. 4

Part B: Anthropology
Section Id : 920906530
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906861
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 92090626751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Neo-Lamarckian Scientists opined that 'adaptations’ are universal and it
happens through causal relationship of:

1. Structure, function and environment
2. DNA, genes and chromosomes

3. Shape, size and usability

4. Fertility, mortality and morbidity

Options :



920906105701. 1
920906105702. 2
920906105703. 3
920906105704. 4

Question Number : 26 Question Id : 92090626751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d-ciHTharal dFI-®] &1 Hd U1 [ SFgaT W@ gadd_ &
HRUNHS Hael & A1e9H 4 8l g

GTEI, B 941 hiaeu

. 1. T4, U, SfiF qu1 A

PR, HTHY TYUT IGLIT

. AP dl, YT AU F0[l

B N

Options :

920906105701. 1
920906105702. 2
920906105703. 3
920906105704. 4

Question Number : 27 Question Id : 92090626752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Neo-Darwinism, what is the prime source of variation in a
population?

1. Mutation

2. DNA Polymerase reaction

3. Mitochondrial Divergence

4. DNA Proof reading and Repair

Options :

920906105705. 1
920906105706. 2
920906105707. 3
920906105708. 4

Question Number : 27 Question Id : 92090626752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

4- Sifd-1a1g & SHR SHEd H fafi=ar &1 gd Wid &1 82
1. IARdd
2. 31U U Uleliayy snfHfsan

3. AEAIBISal # ORI
4. 31U U &I qEA1 ay1 ufagid

Options :

920906105705. 1
920906105706. 2
920906105707. 3
920906105708. 4

Question Number : 28 Question Id : 92090626753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is Synthetic Theory of Evolution?
1. A theory that describes the process by which new species arise
2. A theory that combines the ideas of natural selection and genetics
3. A theory that explains the origin of life on earth

4. A theory that describes the structure and evolution of DNA

Options :

920906105709. 1
920906105710. 2
920906105711. 3
920906105712. 4

Question Number : 28 Question Id : 92090626753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wH- Aew &1 s (dafay) Rreia s g2
1. U 0w fgid ot 95 wfied &1 Safy 1 uftear &1 faawor 2ar @
2. U U1 Rigia S Uidd 994 a9yl HHdRAIE & faaRl &1 9aie- $dl 8
3. U U1 Rigia S gl OR oiias &1 Iafi & are aRal §
4. % U1 figid off €1, uA. U Y WeA ay1 %Y faery &1 fageu 2ar g



Options :

920906105709. 1
920906105710. 2
920906105711. 3
920906105712. 4

Question Number : 29 Question Id : 92090626754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following nitrogenous bases is NOT found in DNA?
1. Adenine
2. Guanine
3. Uracail
4

. Thymine

Options :

920906105713. 1
920906105714. 2
920906105715. 3
920906105716. 4

Question Number : 29 Question Id : 92090626754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Faffad # 9 @19 91 AEeIeH! &7 S1UA.T H gl Uil |
1. T8HH
2. WHH
3. QY
4. ygHH
Options :

920906105713. 1
920906105714. 2

920906105715. 3
920906105716. 4

Question Number : 30 Question Id : 92090626755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

What is the role of ribosome in protein synthesis?

a=mb

To synthesize RNA

2. To bind to DNA during transcription

3. To carry amino acids to the growing protein chain
4

. To link amino acids together to form a protein

Options :

920906105717. 1
920906105718. 2
920906105719. 3
920906105720. 4

Question Number : 30 Question Id : 92090626755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WIS el 7 ISR B o YT g2
1. 3R, UH. U &1 LU0 Bl
2. 3 IEF & SR SLTAT BT &M
3. ggdl g% UIeH @1 y@a H i1 3l &1 ugamr
4. UIEH €914 & foru il 31l &1 IR Hag B

Options :

920906105717. 1
920906105718. 2
920906105719. 3
920906105720. 4

Question Number : 31 Question Id : 92090626756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Heteroploidy refers to the condition where an organism has an abnormal
number of which of the following?

1. Antigens
2. Chromosomes
3. Antibodies
4

Proteins



Options :

920906105721. 1
920906105722. 2
920906105723. 3
920906105724. 4

Question Number : 31 Question Id : 92090626756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s Tforar (@ediwiradl) ue Ut fRufa @ o sitg 3 B Y
@1 UTg Sl 8|

1. TIeH

2. TONA

3. TLEE

4. WA

Options :

920906105721. 1
920906105722. 2
920906105723. 3
920906105724. 4

Question Number : 32 Question Id : 92090626757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is true about linked genes?

1. They are located on the same chromosome
2. They are located on different chromosomes
3. They always cause diseases
4. They are always inherited separately

Options :

920906105725. 1

920906105726. 2

920906105727. 3
920906105728. 4

Question Number : 32 Question Id : 92090626757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tead ol & fawg # Fg & 3 701 94 87
. 98 U g U W 3afyd g1d ¢
. g fafte oRgEl R sEfRE g ®
. Tg ERun R e R

. U% Y&l YY® %9 9 9N 8id ©

B

Options :

920906105725. 1
920906105726. 2
920906105727. 3
920906105728. 4

Question Number : 33 Question Id : 92090626758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following describes the genetic constitution a population?
1. Genotype
2. Phenotype
3. gene pool
4

Mutation rate

Options :

920906105729. 1
920906105730. 2
920906105731. 3
920906105732. 4

Question Number : 33 Question Id : 92090626758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faeil S &1 SEfIe Hued &1 auiH [y & 9 &9 &1 82
(SiFTETZY) o9 yed

(BIeTST) FHaaf
. SiFgd

. IONad B

R



Options :

920906105729. 1
920906105730. 2
920906105731. 3
920906105732. 4

Question Number : 34 Question Id : 92090626759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many rounds of cell-division occur during meiosis?
1. One
2. Two
3. Three

4. Four
Options :
920906105733. 1
920906105734. 2
920906105735. 3
920906105736. 4

Question Number : 34 Question Id : 92090626759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR fadTeH o SR Ay & faa (3rad-) 9 81d 82
Udh

A
e
EIE)

AW =

Options :

920906105733. 1
920906105734. 2
920906105735. 3
920906105736. 4

Question Number : 35 Question Id : 92090626760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Baboons and Macaques are:
1. Old World monkeys
2. New World monkeys
3. Intermediate world monkeys
4.

Extinct monkeys

Options :

920906105737. 1
920906105738. 2
920906105739. 3
920906105740. 4

Question Number : 35 Question Id : 92090626760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dauided_ gl
1. W& & dFR
2. Ap-fay F amw
3. Head [9Y & 9
4. faqu aR

Options :

920906105737. 1
920906105738. 2
920906105739. 3
920906105740. 4

Question Number : 36 Question Id : 92090626761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Cranium of Australopithecus africanus was discovered by:
1. Raymond Dart
2. Robert Broom
3. Eugene Dubois
4

Davidson Black



Options :

920906105741. 1
920906105742. 2
920906105743. 3
920906105744. 4

Question Number : 36 Question Id : 92090626761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRR B0 D HUTd [HHd gRT Wil 7T 4T?
1. IHUE B¢
2. Jae §H

3. Jolid STy

4. SlAsvA s

Options :

920906105741. 1

920906105742. 2

920906105743. 3
920906105744. 4

Question Number : 37 Question Id : 92090626762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The village of La Chapelle-aux-Saints in central France is famous for the
discovery of fossil remains related to:

1. Neanderthals
2. Proconsul major
3. Australopithecus afarensis
4. Grimaldi man
Options :
920906105745. 1
920906105746. 2

920906105747. 3
920906105748. 4

Question Number : 37 Question Id : 92090626762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TiE & e U | & JUd- 3-8 &1 711d g # ¥ 59 srawmi & @
& fom uRs @

1. Fuasy@

2. & vidfud

3. TR IHY B

4. gHIE] G2

Options :

920906105745. 1
920906105746. 2
920906105747. 3
920906105748. 4

Question Number : 38 Question Id : 92090626763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is Not an anthropometric index?
1. Body Mass Index (BMI)
2. Waist to Hip Ratio (WHR)
3. Arm to Height Ratio (AHR)
4. Blood Pressure Index (BPI)

Options :

920906105749. 1
920906105750. 2
920906105751. 3
920906105752. 4

Question Number : 38 Question Id : 92090626763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 & @ S I1 AHaAf Gasis T8 82
1. 9181 HIE SS9 (BMI)
2. [Ade &1 HHT | SUTd &1 ISP (WHR)
3. Yol ¥ A3 & SFUTd &1 Gadid (AHR)
4. Tad 91U YAB1h (BPI)

Options :

920906105749. 1
920906105750. 2
920906105751. 3
920906105752. 4

Question Number : 39 Question Id : 92090626764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is the longest bone in human body?
1. Femur

2. Tibia

3. Fibula

4. Ulna

Options :

920906105753. 1

920906105754. 2

920906105755. 3
920906105756. 4

Question Number : 39 Question Id : 92090626764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AHE TRR & a8 Tl oify s W@ 82
1. B
2. fefemn
3. foogan

4. Sl

Options :
920906105753. 1



920906105754. 2
920906105755. 3
920906105756. 4

Question Number : 40 Question Id : 92090626765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The gradual deterioration of functional characteristics of humans is called:
1. Renascence
2. Adolescence
3. Senescence
4

Decadescence

Options :

920906105757. 1
920906105758. 2
920906105759. 3
920906105760. 4

Question Number : 40 Question Id : 92090626765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4l & ST &0l & Hiie g &I 71 Fed o?
1. Qeitad
2. fhammamn
3. JEIaRl
4, SHSH

Options :

920906105757. 1
920906105758. 2
920906105759. 3
920906105760. 4

Question Number : 41 Question Id : 92090626766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A: Human evolution is characterized by bipedalism which is the
ability to walk on two legs

Reason R: Bipedalism is unigue to humans and is believed to have evolved
around 4 million years ago as a response to the changes in environment

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4

. A is not correct but R is correct

Options :

920906105761. 1
920906105762. 2
920906105763. 3
920906105764. 4

Question Number : 41 Question Id : 92090626766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 2 FY U T §: U YA (Assertion A) & ¥ T fafed § ol g¥R1 39S
RO (Reason R}a‘TWﬁ;

HHPHYA A: HIHd & hiHh fabTd &1 fg-ured gRT Siftemaifore AT g,
forgesT g 8 21 < 9 I &1 |

HRUI R: f§- Ured 7T &1 U aifgdiy @aon g o ey 4 fafegs ad
aiaRol 7 311U uftad- & foie g3 offshar & U g fasr | ST 8|
IR U F 3dre A, 14 30 70 fasedl # 4§ 968 Iuge 3R &1 999
Pifore:

A 3R R GHI Ug1 & IR R, A BI U6l AR &

A 3R R ST Wg1 & SR R, A B Ul AR 61 &
A e g AT R WE1 TET 8

ATE e gAPIRUE

oW P o

Options :



920906105761. 1
920906105762. 2
920906105763. 3
920906105764. 4

Question Number : 42 Question Id : 92090626767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A: The volume of cranium has undergone significant decrease in
prolonged course of evolutionary history of humans

Reason R: The increase in brain size and complexity is linked to the
development of language and the ability to use tools

In the light of the above statements, choose the correct answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. Ais not correct but R is correct

Options :

920906105765. 1
920906105766. 2
920906105767. 3
920906105768. 4

Question Number : 42 Question Id : 92090626767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 ¢ Fo 13U T §: U 3HfUSYA (Assertion A) & ¥4 T fARad & i g¥RT 39S
{0 (Reason R}%Wﬁ;

HMUHYA A: TOFdT & HiD fabr & T Sfaer I Hurd & iga- & sriguf
e g B

SR R: AR&TSH & UMY # g gyt Sfeear 41 & [Tar aur SieRi &1
FUIRT H3A Jrgdl & fad™ & 1Y Heltd g1

SR HY= & 3fTdie H, i AU 7 faw el 7 9 e Iuga I 1 994
HIfe:

A 3R R IHT TS & 3TR R, A B el 18T @

A 3R R ST HEl § IR R, A 1 Ul RSN 81 &
A el g b R WEI TET 8

ATE el B APAR TR

B o=

Options :

920906105765. 1
920906105766. 2
920906105767. 3
920906105768. 4

Question Number : 43 Question Id : 92090626768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following hominid fossils in chronological order from the earliest
to the most recent:

A. Homo erectus
Australopithecus afarensis
Neanderthals

Cro-Magnon

m 2 e

Homo sapiens

Choose the correct answer from the options given below:
1. B.C.AxD E

C.B.ADE

B.A.CDE

C.A,B,.DE

- ol S

Options :



920906105769. 1
920906105770. 2
920906105771. 3
920906105772. 4

Question Number : 43 Question Id : 92090626768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafaa greitfe @red) sharedi &1 urdia @ 9dian 0o SH-ER Jafyd &)
A. BTHI 339

B. AETAMEAH HBRHH

c. sy«

D. WI- T9H

E. M A9 @4

13 fau U fasedl # 9 9ad Iugdd IR $1 99 Hifeld:
B,C,A D E

C.B,ADE

BACDE

C.A.B,D.E

= LD P

Options :

920906105769. 1
920906105770. 2
920906105771. 3
920906105772. 4

Question Number : 44 Question Id : 92090626769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following scientists related to biological/ physical anthropology
in a sequence based on their time period, starting from the earliest:

A. Charles Darwin
B. Gregor Mendel
C. Louis Leakey
D. Jane Goodall
E. Jean Bapitiste Lamarck
Choose the correct answer from the options given below:
1. G B.A D E
2. BCAED
3. EABCD
4 CABDE

Options :

920906105773. 1
920906105774. 2
920906105775. 3
920906105776. 4

Question Number : 44 Question Id : 92090626769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UTdHaH ¥ URR a8 Fgfiad siafagy/ IRiNG Aafdy= 3 H&ftd
ST 1 I TN F FUMIR Hafedd S|

A. 9T S1idA

B. MR ASd

C. T8 dlidl

D. S 3|

E. ofF gufewR aurd

412 fRu v ol # € vEd Iuged IR &1 994 Difel:
C.BA DE

B.C.A,E D

EABCD

C.ABDE

oW o

Options :
920906105773. 1



920906105774. 2
920906105775. 3
920906105776. 4

Question Number : 45 Question Id : 92090626770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: In the evolutionary history of Homo sapiens, Neanderthals were
relatively more developed than archaic humans

Statement II: In the evolutionary history of Homo sapiens, Neanderthals
were relatively less developed than Homo erectus

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4

Statement | is incorrect but Statement Il is correct

Options :

920906105777. 1
920906105778. 2
920906105779. 3
920906105780. 4

Question Number : 45 Question Id : 92090626770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T HyF R &

HYA 8H ({Ha) A= & BiE faer & 3faem § QUi aFdl &1
e FTEyd i fdafia 4|

Y |I: FHRATEH ({F49) F HiF e & Ifae §, FueSyd g9 3iaed
&1 s(Uen & PR 41

TURIE HYF & 3fidls #, 1 f3u MU fasedl 7 4 Uel I &1 9094 SIfe:

1. B R A EE &

2. BYF | 3R 11 &1 TTad §

3. YA IS g, AfpA FUA 11 Tad &

4. BYF | TTAd §, Afchd $YF 1| T8l §
Options :

920906105777. 1
920906105778. 2
920906105779. 3
920906105780. 4

Question Number : 46 Question Id : 92090626771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement |: The size of chimpanzee's brain is equal to that of Homo sapiens

Statement Il: Among primates, chimpanzees are the closest living relatives
of Homo sapiens

In the light of the above statements, choose the correct answer from the
options given below:

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement Il are false

3. Statement | is true but Statement 1l is false
4. Statement | is false but Statement Il is true

Options :

920906105781. 1
920906105782. 2
920906105783. 3
920906105784. 4



Question Number : 46 Question Id : 92090626771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M pyIRE:

FYA |: il & BiaSR &1 MY §HT (A1) 999 & ARdS & & gidl
gl

U 1 R IR Ui H i, 89 (\rg) Sftg=g & 998 Avidle! sifdd
e g1

IR HYA & Maid H, 13U 710 fdeedl 7 9 98t IR &1 994 Hifore:

1. Y IR NN AT E

2. FYAI SR I SHI EA §

3. BYF | A g, Afp YA 11 3

4. BYF| T g, AfFT YT 11 T ©
Options :

920906105781. 1
920906105782. 2
920906105783. 3
920906105784. 4

Question Number : 47 Question Id : 92090626772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are correct?
A. Race is a social construct
B. Racism is closely linked to genetic variation
C. There is no scientific basis for differentiating among human stocks
D. Racism helps in understanding differences among human stocks
E. Genetics has proved that discriminatory attitudes are due to linked genes

Choose the correct answer from the options given below:

1. B, D, Eonly
2. Aand Conly
3. A B Eonly
4. B, C Eonly



Options :

920906105785. 1
920906105786. 2
920906105787. 3
920906105788. 4

Question Number : 47 Question Id : 92090626772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofafag & & @19 4 sua 981 €2
. VST Uep 9rHifeld S3EA1 €1
ySIfaare &1 STd R R & T Tocie! ddy 2|
. A4 391 § faies &3 &1 B13 a9 YR T8l 81
. HHd 491 &) faftrsrais &1 gugE ¥ usnidde 980 el
HFGIRIS gRI I8 YHIO g3 § fob HeHed sifighy S Ygeial &
HRU Bl g
412 iRu v fasredl # € 9ad Sugad IR &1 99 Difel:
1. &ddB, D, E
2. Pad AR C
3. BddA, B, E
4. &dd B, C E

I

monw

Options :

920906105785. 1
920906105786. 2
920906105787. 3
920906105788. 4

Question Number : 48 Question Id : 92090626773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are correct?

A. Charles Darwin opposed the idea of Genetic equilibrium
B. Law of Segregation was proved wrong by Gregor Mendel
C. Human gametes contain 23 chromosomes

D. Neanderthals were bipedal

Choose the correct answer from the options given below:

1. Aand D only
2. Band D only
3. Cand D only
4. Aand C only

Options :

920906105789. 1
920906105790. 2
920906105791. 3
920906105792. 4

Question Number : 48 Question Id : 92090626773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafefad & 3 o 91/3 98l 8/8?
A. T STidH A SMdRIS dqa- & Ha &1 ey fan
B. IR HEd gRI Yyl & figid &1 7Tad R faan
C. HHd ge] H 23 URE &l g |
D. gy fgudt 91
12 fau U fasedl # 8 998 Iuged IR &1 949 ST
1. ®dd A SR D
2. &ad B3R D
3. &dd C 3R D
4. Fad ASRC

Options :

920906105789. 1
920906105790. 2
920906105791. 3
920906105792. 4



Question Number : 49 Question Id : 92090626774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

LISTI LIST Il
A. Karl Landsteiner l. Genetic Variation
B. Hardy-Weinberg ll. Human Somatotype
C. Raymond Dart IILABO Blood Groups
D. William Herbert Sheldon  IV.Australapithecus africanus

1. A-l, B-ll, C-lll, D-1V
2. A-IV, B-ll, C-lll, D-I
3. A-lll, B-l, C-IV, D-li
4. A-ll, B-1v, C-I, D-lI

Options :

920906105793. 1
920906105794. 2
920906105795. 3
920906105796. 4

Question Number : 49 Question Id : 92090626774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! | T gt 1| ¥ fie Sifon

| sl
A. [BTd SRR W RCECACRERI
B. [BTei aai II. [Ard BEUSR
C. RHUS 81¢ I11. JABO & THg
D. [[aferaH BReC Aes| V. [HIRTATIIS D SipbldhTy
1. A-l, B-ll, C-lll, D-IV
2. A-IV, B-ll, C-lll, D-I
3. A-lll, B-l, C-IV, D-Ii
4. A-ll, B-IV, C-1, D-lli

Options :
920906105793. 1



920906105794. 2
920906105795. 3
920906105796. 4

Question Number : 50 Question Id : 92090626775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

LIST | LIST I
A. S-shaped spine I. Java man
B. Protruding Jaw Il. Acceleration of Maturation
C. Bipedalism lll.Homo sapiens
D. Secular Trend IV.Australopithecines

1. A-l, B-ll, C-lil, D-1V
2. A-ll, B-l, C-IV, D-llI
3. A-l, B-lll, C-ll, D-IV
4. A-lll, B-1V, C-1, D-I

Options :

920906105797. 1
920906105798. 2
920906105799. 3
920906105800. 4

Question Number : 50 Question Id : 92090626775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! | BT g 1| ¥ e Sifom

Rl NSl
A. [5-3TPR dIdl HEqUg| |. [S1dl HIHd
B. [@fefdy Siaat I1. [[@Ra aiusa
C. [fig- urfean 1. [errafa=a @Ha)
D. [dTHTicie ughd V. [T U=
1. A-l, B-II, C-lll, D-IV
2. A-ll, B-I, C-IV, D-IIl
3. A-l, B-lIl, C-ll, D-IV
4. A-lll, B-1V, C-I, D-Il
Options :

920906105797. 1
920906105798. 2
920906105799. 3
920906105800. 4

Question Number : 51 Question Id : 92090626776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The concept of Great tradition and little tradition as bipolar model of
civilization was given by:

1. Robert Redfield
2. M. C. Burkit
3. Edmund Leach
4. Levi-strauss

Options :

920906105801. 1
920906105802. 2
920906105803. 3
920906105804. 4

Question Number : 51 Question Id : 92090626776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Al & Tgydia Alsd & $U # 7 U0 aYT FH TR S sfayron feud
grRIdl e 82

1. Jac LSPhies

2. A, gfbe

3. UgHs dlg

4. odl

Options :

920906105801. 1
920906105802. 2
920906105803. 3
920906105804. 4

Question Number : 52 Question Id : 92090626777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which tribe in India is largest in terms of population size?

1. Gond

2. Gaddi
3. Raji
4. Bhil
Options :
920906105805. 1
920906105806. 2

920906105807. 3
920906105808. 4

Question Number : 52 Question Id : 92090626777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STHE & AR & HeH # HRd &1 S T Fuld gy it J= | g2

FEE

Options :



920906105805. 1
920906105806. 2
920906105807. 3
920906105808. 4

Question Number : 53 Question Id : 92090626778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the constitutional provision to provide special financial assistance for
Tribal Welfare?

1. Article 342
2. Article 275 (1)
3. Article 365
4. Article 30

Options :

9209061058009. 1
920906105810. 2
920906105811. 3
920906105812. 4

Question Number : 53 Question Id : 92090626778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sl & Hearul & fou fafy snfife werdr ugH &3 & fou daufe
UTaeT &1 g7

1. 3JE5G 342
2. 3THg 275 (1)
3. 3G 365
4. TS 30

Options :

920906105809. 1
920906105810. 2
920906105811. 3
920906105812. 4

Question Number : 54 Question Id : 92090626779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The four-fold scheme of development of political organization-"band, tribe,
chiefdom and the state"-was espoused by :

1. Marshall Sahlins
2. G.P. Murdock
3. E. B. Tylor
4

Elman Service

Options :

920906105813. 1
920906105814. 2
920906105815. 3
920906105816. 4

Question Number : 54 Question Id : 92090626779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&4t oo 98 9 & faer & o Fafefea aqat <q, sHenfa, giean
a1 Iy - fhdas gRT Uidurgd e 1ar 4r?

1. Wifde grefe™
2. Gl Ui, iSi®

3. Sdl AW

4. U@HA 9idg

Options :

920906105813. 1
920906105814. 2
920906105815. 3
920906105816. 4

Question Number : 55 Question Id : 92090626780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The study of sound used in speech is called:
1. Morphology
2. Syntax
3. Semantics
4. Phonology

Options :

920906105817. 1
920906105818. 2
920906105819. 3
920906105820. 4

Question Number : 55 Question Id : 92090626780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sicil H IUNT H @15 o arell saf-ai & g & o] Fed o7
. Npid fagm

qr- faams

312l fagm

- A=

BowoNoo

Options :

920906105817. 1
920906105818. 2
920906105819. 3
920906105820. 4

Question Number : 56 Question Id : 92090626781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who said that social stratification in India is based on "purity and
pollution"?

1. Louis Dumont
2. M. N. Srinivas
3. Leela Dube

4. F.G. Bailey



Options :

920906105821. 1
920906105822. 2
920906105823. 3
920906105824. 4

Question Number : 56 Question Id : 92090626781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR T qrIioid TRIeH "Yadl dul Uguur IR 1HRd €1 38 s [69 &g

g7
. R S
. TA. T, HiFad
. dargd
. U, off. g

b P =

Options :

920906105821. 1
920906105822. 2
920906105823. 3
920906105824. 4

Question Number : 57 Question Id : 92090626782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a tribal movement?
1. Chipko movement

Kol insurrection

Tana Bhagat
Jangal Katai Andolan

W N

Options :

920906105825. 1
920906105826. 2
920906105827. 3
920906105828. 4

Question Number : 57 Question Id : 92090626782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

9§ ¥ $7 W SFeniadl &1 e T8l 87
1. Rl sfigia
2. ®Id fdglg
3. AT W
4. SFTd HeTg SHigia

Options :

920906105825. 1
920906105826. 2
920906105827. 3
920906105828. 4

Question Number : 58 Question Id : 92090626783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The prohibition of sagotra marriage is an example of:
1. Class exogamy
2. Caste exogamy
3. Racial Taboo
4

. Clan exogamy

Options :

920906105829. 1
920906105830. 2
920906105831. 3
920906105832. 4

Question Number : 58 Question Id : 92090626783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WA faarg &1 Ay A & 3§ fge Iaeru 82
1. o Ifefdare
2. wifq afgfdare
3. TeiTd g
4. T sSfefdare



Options :

920906105829. 1
920906105830. 2
920906105831. 3
920906105832. 4

Question Number : 59 Question Id : 92090626784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Historical particularism as an anthropoloaical approach was proposed by:

1. Franz Boas

2. Ruth Benedict

3. Robert Merton

4. E. E. Evans-Pritchard

Options :

920906105833. 1
920906105834. 2
920906105835. 3
920906105836. 4

Question Number : 59 Question Id : 92090626784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UfdgTRIes UhAEdIE &1 HHfaeH SPiH & ¥U # e wdanfad fear
1. Thidt |13
2. By gfgae
3. ac weA
4. 33 3919- =S

Options :

920906105833. 1
920906105834. 2
920906105835. 3
920906105836. 4

Question Number : 60 Question Id : 92090626785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The inheritance rule that makes the eldest child heir of the property is
called:

1. Ultimongeniture
2. Equigeniture
3. Primongeniture
4. Patriarchy

Options :

920906105837. 1
920906105838. 2
920906105839. 3
920906105840. 4

Question Number : 60 Question Id : 92090626785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JIIMISR &1 7w o Had g 92 Gd[ &1 & Juf &1 THIUeR Sl g,
34 T Fed 87

Options :

920906105837. 1
920906105838. 2
920906105839. 3
920906105840. 4

Question Number : 61 Question Id : 92090626786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Marriage of a person to Fathers Brother's children or Mother's sister's
children is referred as:

1. Cross-cousin marriage

2. Parallel cousin marriage
3. Dydic marriage
4.

Exogamous marriage

Options :

920906105841. 1
920906105842. 2
920906105843. 3
920906105844. 4

Question Number : 61 Question Id : 92090626786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 & WIS & =gt 3Uar HId1 S afg & a1 & 91y [991E &) F1 Hed 87
1. ®I9- HiviA faarg
2. gHIR HivH g

3, fgelgfaE
4. dfgfdarg

Options :

920906105841. 1
920906105842. 2
920906105843. 3
920906105844. 4

Question Number : 62 Question Id : 92090626787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Applied Anthropology as a domain of knowledge relates to:
1. Theoretical conceptualization
2. Narrative analysis
3. Literary criticism

4. Use of Anthropology for public good

Options :

920906105845. 1
920906105846. 2
920906105847. 3
920906105848. 4

Question Number : 62 Question Id : 92090626787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

agTe® AFATHE I & fhy &3 ¥ Ydfid &2
1. Ygf<e suafis
2. faaruneTes fasersor
3. Oefd® sarE
4. AHARTH &1 Ade-9 fgd & o Iudn

Options :

920906105845. 1
920906105846. 2
920906105847. 3
920906105848. 4

Question Number : 63 Question Id : 92090626788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hindu philosophy advocates different stages of a human life. Arranged
sequence of these stages is:
1. Bramhacharya - Grihastha - Vanprastha - Sanyas
2. Bramacharya - Vanprastha - Grihastha - Sanyas
3. Bramacharya - Sanyas - Grihastha - Vanprastha
4

Bramacharya - Vanprastha - Sanyas — Grihastha



Options :

920906105849. 1
920906105850. 2
920906105851. 3
920906105852. 4

Question Number : 63 Question Id : 92090626788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f&=g 3= AFa ofiad 31 fafia srawasii &1 90d[ 81 37 srawusi &1 9gl HH
TAUPR &-

1. SErad, TR, IR, 99

2. SR, T, e, 9

3. SEEd, 9, aFUR, e

4. SEEd, IFURY, 9N, e

Options :

920906105849. 1
920906105850. 2
920906105851. 3
920906105852. 4

Question Number : 64 Question Id : 92090626789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The distinction of state and stateless society was given by:

"

Edmund Leach
. B. Malinowski

Radcliffe Brown

A oW

E. E. Evans-Pritchard

Options :

920906105853. 1
920906105854. 2
920906105855. 3
920906105856. 4

Question Number : 64 Question Id : 92090626789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

ARSI ayT Areedre ¥are § 3fd? 9 & § fad gr foar mr ur
1. TgHs og
2. &l Aci-Iges
3. YSfaas F3A

4. 3RS

Options :

920906105853. 1
920906105854. 2
920906105855. 3
920906105856. 4

Question Number : 65 Question Id : 92090626790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term "Rites de passage"” associated with transition of an individual from
one stage to other stage of life was proposed by:

1. Emile Durkheim
2. L. H. Morgan
3. Arnold Van Gennep

4. Franz Boas

Options :

920906105857. 1
920906105858. 2
920906105859. 3
920906105860. 4

Question Number : 65 Question Id : 92090626790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



N5ey 8 TS Weg AT & Siia- B U a1 H g1 3faw1 § ulkaa— A
Yaftrd g1 gg A ufduiida faar ure

1. Uil SREA
2. U9 Ug. AR
3. 3HfeE aF o=y
4. Thiel S

Options :

920906105857. 1
920906105858. 2
920906105859. 3
920906105860. 4

Question Number : 66 Question Id : 92090626791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A: The word globalization is often used to refer to "the massive
flow of goods, people, information, and capital across the globe."

Reason R: The process of globalization has resulted in the worldwide spread
of cultural features, particularly in the domain of economics and international
trade.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct

Options :

920906105861. 1
920906105862. 2
920906105863. 3
920906105864. 4

Question Number : 66 Question Id : 92090626791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

11 § By QU N1 §: U 3HHFHYA (Assertion A) & FU H foifad § o 2RI 39S
0] (Reason R) R ff;

HHHYF A: IR0 U BT JUTRT SFER & "IX 3, T, 131 aur geil o1
fay § sage gdrg” & He # fava Srar g1

BRI RS0 DT Ufehar &1 ulomy Sikgfas fadwarst, faQea: sfde aur
3fARIPT TR 1 fay-sard! faeR 81

I HYA & 3fTaied H, A1 fou 7u fabedl § 9 I Iuged I’ &1 994
GAIE1E

1. AR REH T8I € IR R, A D! Uel AR §

2. ASIRREH Tel § 3R R, A &I HEl AT T8l &

3. AUgie Ul TR TRl A8l &

4. AT TS EAPIRTE €

Options :

920906105861. 1
920906105862. 2
920906105863. 3
920906105864. 4

Question Number : 67 Question Id : 92090626792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A: The efforts to make people give up subsistence economy are
intended to get everyone to participate in the cash economy

Reason R: The state views hunting, gathering, shifting cultivation and fishing
as incompatible with individual ownership, cash cropping and the creation of
surplus

In the light of the above statements, choose the correct answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct



Options :

920906105865. 1
920906105866. 2
920906105867 3
920906105868. 4

Question Number : 67 Question Id : 92090626792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 ¢ HY U T §: U 3HfUSY (Assertion A) & ¥4 H fARad € ol g¥R1 39S
U] (Reason R) R ff;

SHHHYA A: A1 gRI Shiad Fale sifeaawy &1 818 34 & Ugrhl &1 19d 8
Ul &1 Tdhal Sawdl § YT |

BRI R: RS- YU, RFATIRGT $N dY1 T- Yg01 I9 $1 =P # Al
W@, THd] Baa adl e Fafo & my sRiTg 8

IR FYF & 3fdie H, i 73U 7 fawedl 7 9 Iad Iuga o &1 999
GAIELE

1. AR REHIGAE IR R, A B Uel ARSI &

2. ASIRREHI 9l § SRR, A P! Ul RS 6l &

3. AYW g UMBAR A &

4, ANTT gUPTRTI G

Options :

920906105865. 1
920906105866. 2
920906105867 3
920906105868. 4

Question Number : 68 Question Id : 92090626793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Lewis Henry Morgan proposed unilinear progress of society. The progress
formulated by him sequenced from simple to complex is:

A. Barbarism
B. Lower Savagery
C. Upper Savagery
D. Civilization

E. Middle Savagery

Choose the correct answer from the options given below:

1. E DB LA
2. BECAD
3. ADCBE
4. DA CEA

Options :

920906105869. 1
920906105870. 2
920906105871. 3
920906105872. 4

Question Number : 68 Question Id : 92090626793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e g8 v 3 ufamfe fvar 6 wae &t wfd e el g1 e @
wifed & %H H IS gRI &5 715 Wi 6 a1l Ay usR 3 €
A, F&dl

B. g el

C. 3= SIagul

D. Tl

E. HeH STciIqu

1 feu U faedl # § ¥Ed Iugdd IR H1 99 Difel:
E,.D,B,CA

B,EEC AD

ADCBE

DA CEA

ol

Options :



920906105869. 1
920906105870. 2
920906105871. 3
920906105872. 4

Question Number : 69 Question Id : 92090626794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the sequence of theoretical constructs from newest to oldest.
A. Heliolithic Diffusion

B. Etic and Emic

C. Structural forms

D. Patterns of culture

E. Psychic unity of mankind

Choose the correct answer from the options given below:

1. &8 C.DE
EEADCB
B.ADCE
A DCBE

B W

Options :

920906105873. 1
920906105874. 2
920906105875. 3
920906105876. 4

Question Number : 69 Question Id : 92090626794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Idad | WrEaH & w0 # g SeiiRie Suddil @ ogafid S|
A. IR fdeivH

B. Ufeed oyl uf®

C. HIFATHS B4

D. H&id & Yo

E. HMHGdl &1 H1fdE Uhdl

2 fu U famedl # 9 968 Iuge IR &1 99 DIl
A B CD,E

E.ADCB

B,AD,CE

A D CB,E

-l

Options :

920906105873. 1
920906105874. 2
920906105875. 3
920906105876. 4

Question Number : 70 Question Id : 92090626795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement |: The most and rapid way culture can change is by revolution a
usually aggressive and violent replacement of the society's rulers.

Statement ll: All people who are suppressed, conquered or colonized will
essentially rebel and successfully revolt against established authority.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :

920906105877. 1
920906105878. 2
920906105879. 3
920906105880. 4



Question Number : 70 Question Id : 92090626795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AP fRuE:
FYA |- Hifd- &1 BT AT & ATHD| DI MHHS ad1 f§ue Ui g,
SR H&id @1 yRafdd $E 31 Uaaad a4 Muert &5 g
YA |I: § gHI A S S §, 3refiF sruar IufafK € wifta st &
favg sifFard Tu ¥ @Ry qur fage $311
JWRIE HY & 3fdld H, 4 ST T fadwedl 7 9 g1 IR &1 99 Sifol:

1. SYF | 3R 1 TSt T

2. HYA | 3R 11 FH1 TTAd 8

3. ®YT 198! ¢, Al Y 1| Tad §

4, YT TTAd g, Afpd FYT 11 T8l §

Options :

920906105877. 1
920906105878. 2
920906105879. 3
920906105880. 4

Question Number : 71 Question Id : 92090626796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement |: Societies with a band type of organization are composed of
fairly small, usually nomadic groups

Statement II: Band is politically autonomous, with informal authority and
leadership role within the group

In the light of the above statements, choose the correct answer from the
options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement |l is false

4. Statement | is false but Statement Il is true
Options :
920906105881. 1
920906105882. 2



920906105883. 3
920906105884. 4

Question Number : 71 Question Id : 92090626796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR A wrRu E:

DU |: GAY UHR & HISAT dTel GHTS FHI ¥U F SIS qul JHA:
SR GHgT ¥ firder & gid g

HYF |1; &d oD ¥U J o a4 GHIE & fdiid S ASRT gl
Aqd B! 2{ffiep1 a1 €1 ¢

JURId HUH & 3eire |, [l 3T 70 fabedl 7 4 Ugl IR &1 9094 Difolt:

YT | AR NS TA &
HYA | 3R 11 ST 3 @
HYT | 9 g, AT FYT 11 STA R
HY | 3T ¢, AP HYT 11 TA

ol ol v

Options :

920906105881. 1
920906105882. 2
920906105883. 3
920906105884 4

Question Number : 72 Question Id : 92090626797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the Indian anthropologists associated with concept of sacred
complex.

A. M. N. Srinivas
B. S.C Dube

C. L. P. Vidyarthi
D. Makhan Jha
E. S.C.Roy

Choose the correct answer from the options given below:

1. Cand D only
A and B only
A and C only

B WM

D and E only

Options :

920906105885. 1
920906105886. 2
920906105887. 3
920906105888. 4

Question Number : 72 Question Id : 92090626797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ufes a9 Gafta yRdia ara faAdl &1 ugaE 1
A, TH. T, HifFam

B. TH. . gd

C. ua. . el

D. HIET 3

E. U9 4.3

1 fau 7 fased] # 4 9e8 Iuge IR D1 994 Hifed:

. HAAC AR D
. &dd A 3R B
Fad AR C
. HAAD AR E

AW N o=

Options :

920906105885. 1
920906105886. 2
920906105887. 3
920906105888. 4

Question Number : 73 Question Id : 92090626798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the major language families in India?
A. Indo-Aryan

B. Turko-Iranian

C. Austro-Asiatic

D. Dravidian

Choose the correct answer from the options given below:

1. Aand C only

2. AandB only

3. A, Cand D only

4. A Band Conly
Options :

920906105889. 1
920906105890. 2



920906105891. 3
920906105892. 4

Question Number : 73 Question Id : 92090626798 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd T UHE HTST URaR &F 9 87
A. $31- 1A
B. TR&I-ZUMTA
c. Sffel-ufmms
D. sdifsgd
12 f3u Tu faseul # 9 ¥ad Iugdd IR $1 99 Difelg:
1. ®ad A3RC
2. &dd A 3B
3. &dd A, C3RD
4. HAAA, B3R C

Options :

920906105889. 1
920906105890. 2
920906105891. 3
920906105892. 4

Question Number : 74 Question Id : 92090626799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

LIST I LIST II
A. Cross-cousin Marriage l. Nuer
B. Parallel-cousin Marriage Il. Chippewa Indians
C. Polyandry lIl.Toda
D. Ghost Marriage IV.Kurds

1. A-l, B-ll, C-1V, D-ll
2. A-ll, B-IV, C-lll, D-
3. A-l, B-IV, C-lll, D-lI
4. A-ll, B-1l, C-I, D-IV

Options :

920906105893. 1
920906105894. 2
920906105895. 3
920906105896. 4

Question Number : 74 Question Id : 92090626799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! | BT g 1 Y e Sifog

[ sl
A S EE | 1 RIER
B. [HIR- i faarg| 11, e ssisi
C. [@gufda 1. [ereT
D. [IR1&f fdare V. [Fa

A-l, B-1l, C-1V, DAl
A-ll, B-IV, C-llI, DI
A-l, B-IV, C-lll, D-li
A-lll, B-l, C-1, D-IV

B Wk -

Options :

920906105893. 1
920906105894. 2
920906105895. 3
920906105896. 4



Question Number : 75 Question Id : 92090626800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

LIST I LIST Il
A. Margaret Mead I. Symbolic Anthropology
B. Lewis Henry Morgan II. Structuralism
C. Clifford Geertz I1l.Cultural Personality
D. Levi-Strauss IV.Evolutionism

1. A-lll, B-lI, C-I, D-IV

2. A-IV, B-l, C-lI, DAl
3. A-l, B-lll, C-ll, D-IV
4. A-lll, B-1V, C-1, D-lI

Options :

920906105897. 1
920906105898. 2
920906105899. 3
920906105900. 4

Question Number : 75 Question Id : 92090626800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! | 1 g 1 G fireE Sife
K&l Sl
A. [|Re dis . [rciispTare A4 faqr
B. [aifd¥ &=l ®HiTH| 1. [ERaHmare

C. [daws Mied | 1. [ipid auT safadd
D. [ddl- ¥19, V. [Prare

A-Ill, B-Il, C-I, D-IV

A-IV, B-1, C-II, D-lll

A-l, B-1II, C-II, D-1V

A-Ill, B-IV, C-I, D-Ii

o oo

Options :
920906105897. 1



920906105898. 2
920906105899. 3
920906105900. 4

Question Number : 76 Question Id : 92090626801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The earliest identified stone tool found so far came from:
1. Gona, Ethiopia
2. Narmada valley, India
3. Tepotzlan, Mexico
E3

Anatolian Highland, Turkey

Options :

920906105901. 1
920906105902. 2
920906105903. 3
920906105904. 4

Question Number : 76 Question Id : 92090626801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

32 9% Ui U 99 ¥ UrdiA YgaHaig U iR 9 U gu|

1. 7T, Sidaifaf

2. eI O], YRd

3. Ui, Afdad!

4. 3FEITA gIgds, gH!

Options :

920906105901. 1
920906105902. 2
920906105903. 3
920906105904. 4

Question Number : 77 Question Id : 92090626802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Lower Palaeolithic stone tool tradition is linked with:
1. Ramapithecus
2. Sivapithecus
3. Homo erectus
4

Homo sapiens

Options :

920906105905. 1
920906105906. 2
920906105907 3
920906105908. 4

Question Number : 77 Question Id : 92090626802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{5 qRTUTSTURBTE # UTOT SGRT 1 UTRRT el Weidd g2
1. THYRYHH
2. REmEdey
3. gHISEd
4. gH AT

Options :

920906105905. 1
920906105906. 2
920906105907. 3
920906105908. 4

Question Number : 78 Question Id : 92090626803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the most common and characteristic tools in the Acheulean tool kit is:
1. Bow and Arrow
2. Hand Axe
3. Needle
4. Knife blade

Options :



9209061059009. 1
920906105910. 2
920906105911. 3
920906105912. 4

Question Number : 78 Question Id : 92090626803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(e ¢ fdhe W ey Siftids urdl 9 are au 9ad [ ofieR & 91 87
1. o9 3R &0

2. &%- P3N (P 3_!}
3. @
4.

Options :

920906105909. 1
920906105910. 2
920906105911. 3
920906105912. 4

Question Number : 79 Question Id : 92090626804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Levalloision method of flake tool making belongs to:

1. Mesolithic Period
2. Neolithic Period

3. Lower chalcolithic Period

4. Middle Paleolithic Period

Options :

920906105913. 1
920906105914. 2
920906105915. 3
920906105916. 4

Question Number : 79 Question Id : 92090626804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el TR §9H P cdaiared fafd feeas Sefed g2

1. HEUNI A
2. FdUmNI] HTd
3. Y IR &1|

4. T QRGN0 T

Options :

920906105913. 1
920906105914. 2
920906105915. 3
920906105916. 4

Question Number : 80 Question Id : 92090626805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The earliest stone weapons in the Americans are Clovis points. They are
dated back to:

1. 50,000 years ago
2. 90,000 years ago
3. 11,000 years ago

4. 2,000 years ago

Options :

920906105917. 1
920906105918. 2
920906105919. 3
920906105920. 4

Question Number : 80 Question Id : 92090626805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SERYRT § ST UTNTv] BR Jelfad fawg g1 391 $1d fava oy gd &1
fFuffea = T g2

1. 50,000 99 gd

2. 90,000 @§ gd

3. 11,000 a8 gd

4. 2,000 99 g4

Options :

920906105917. 1
920906105918. 2
920906105919. 3
920906105920. 4

Question Number : 81 Question Id : 92090626806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The archaeological period defined in terms of presence of domesticated
plants and animals is termed as:

1. Chalcolithic
2. Mesolithic
3. Neolithic

4. Palaeolithic

Options :

920906105921. 1
920906105922. 2
920906105923. 3
920906105924. 4

Question Number : 81 Question Id : 92090626806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ITIIE U Uil a1 ureq SHaR] i Juffa & Hauf o uftvfia fagrdt &1a
Bl & U H I Al 2

AU

HETUTST BT

EGR I

URTITSIO] STa

£ N

Options :

920906105921. 1
920906105922. 2
920906105923. 3
920906105924. 4

Question Number : 82 Question Id : 92090626807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The dating methods giving indirect estimates are called relative dating
methods. One example of such dating method is:

1. Seriation

2. Carbon-dating

3. Obsidian hydration
4

Racemization

Options :

920906105925. 1
920906105926. 2
920906105927. 3
920906105928. 4

Question Number : 82 Question Id : 92090626807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 e iR faferdt St seer oW St 8, I T ra iR $8d g
Ut et PR fafirr &1 3areRu 2l

1. BUHHUI

2. FIEA- H1d o

3. fiedifEg SageH

4, THAEOEA

Options :

920906105925. 1
920906105926. 2
920906105927. 3
920906105928. 4

Question Number : 83 Question Id : 92090626808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Burin type tools are typically found at Lower Palaeolithic sites. Burin can be
prepared on:

1. Flake only
2. Flake and Blade
3. Blade and wood

4. Flake, blade and core
Options :
920906105929. 1
920906105930. 2
920906105931. 3
920906105932. 4

Question Number : 83 Question Id : 92090626808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

deolt UPR & SR fawy $u A 9 g Rie W uie §rd 8| daol @
fa W R fasa &1 9l 82

1. &dd e

2. e ayl YR

3. YR Yl &8

4. e, YR dUTHR



Options :

920906105929. 1
920906105930. 2
920906105931. 3
920906105932. 4

Question Number : 84 Question Id : 92090626809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The warm period between two glacial periods is called:
1. Interstedial
2. Interglacial
3. Interval
4

. Interpluvial

Options :

920906105933. 1
920906105934. 2
920906105935. 3
920906105936. 4

Question Number : 84 Question Id : 92090626809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<1 fewrt 3afirgl & & & IwI HTd $I 1 Fed o7

1. Sewefsad
2. SfaRfewdg
3. A

4. SRIfagd

Options :

920906105933. 1
920906105934. 2
920906105935. 3
920906105936. 4

Question Number : 85 Question Id : 92090626810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The examples of Pit Dwelling has been discovered at :
1. Chirand
2. Lothal
3. Burzahom
4. Bhimbetka

Options :

920906105937. 1
920906105938. 2
920906105939. 3
920906105940. 4

Question Number : 85 Question Id : 92090626810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TTdiar & 31830 19 # | el Ui 7Y 87
1. Ris
2. qud

3. goigH
4, MHdcH

Options :

920906105937. 1
920906105938. 2
920906105939. 3
920906105940. 4

Question Number : 86 Question Id : 92090626811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following sites represents the Lower palaeclithic culture?
1. Attirrampakkam
2. Bhimbetka
3. Bagor
4. Daojali Hading

Options :

920906105941. 1
920906105942. 2
920906105943. 3
920906105944. 4

Question Number : 86 Question Id : 92090626811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafaiead & 3 o1 wid 9 QR S1d Sl o ueikia dars?
1. SCRAUGSHH
2. HiHdes]
3. 9FR
4. grefiorel gfem

Options :

920906105941. 1
920906105942. 2
920906105943. 3
920906105944. 4

Question Number : 87 Question Id : 92090626812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following sites represents the Neolithic Culture?
1. Belan Valley
. Birbhanpur

2
3. Burzahom
4. Bhimbetka



Options :

920906105945. 1
920906105946. 2
920906105947 3
920906105948. 4

Question Number : 87 Question Id : 92090626812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafifad # 9 19 91 ®d T3 §3%i &1 Yafkid Sl g2
. & =T
. feRvAgR

golein
tH G REa

AwN oo

Options :

920906105945. 1
920906105946. 2
920906105947 3
920906105948. 4

Question Number : 88 Question Id : 92090626813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'‘Copper Hoard' culture of Chalcolithic India has been found from:
1. Kungi
2. Rajpur Parsu
3. Sohan Valley
4. Daojali Hading

Options :

920906105949. 1
920906105950. 2
920906105951. 3
920906105952. 4

Question Number : 88 Question Id : 92090626813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR JTH HRd &1 ' dF S WPia Hgl W Ul 71 87
1. it
2. ISR IRY
3. g urdl
4, SISl gfET

Options :

920906105949. 1
920906105950. 2
920906105951. 3
920906105952. 4

Question Number : 89 Question Id : 92090626814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mesolithic Period is well-known for:
1. Ring stones
2. Microliths
3. Megaliths

4. Celts
Options :
920906105953. 1
920906105954. 2
920906105955. 3
920906105956. 4

Question Number : 89 Question Id : 92090626814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WO 37 1 9 | 1 forges forg yedtuifa < S 82
1. dAfdd UhR & R

2. Y&H YRIPTH
3. ey

4. QU P

Options :
920906105953. 1



920906105954. 2
920906105955. 3
920906105956. 4

Question Number : 90 Question Id : 92090626815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a site of Indus Valley Civilization?
1. Rajpur Parsu
2. Surkotada
3. Cachar
4. Burzahom

Options :

920906105957. 1
920906105958. 2
920906105959. 3
920906105960. 4

Question Number : 90 Question Id : 92090626815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & I B 91 R 9rd 91 &1 ®id 82

1. Y U
2. Ublersl
3. ®BNR

4. golgW
Options :
920906105957. 1
920906105958. 2

920906105959. 3
920906105960. 4

Question Number : 91 Question Id : 92090626816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A: Technologically advanced and complex tools were discovered
from neolithic and chalcolithic sites.

Reason R: Increased Cranial capacity and bipedalism among archiac Homo
sapiens led to upgradation in tool quality and complexity.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct

Options :

920906105961. 1
920906105962. 2
920906105963. 3
920906105964. 4

Question Number : 91 Question Id : 92090626816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 & Sy AU 71 §: U SHHSHYA (Assertion A) & I ¥ IREd g dl gaRI I9&
O (Reason R}%Wﬁ;

STHDHYA A: TIUTHIOT GUT IR el I ddb-ie! $9  IAd Ud Hicd
SR 9 77T 4|

BRI R: 3Te] U (WHa) § 9¢1 §3 SUTd &mar aut fguifear iRy «t
T[UTaT U Sfeerdl &1 JAfd DI SR faa)

SR $YH & el H, A1 fGu 7u fad el § 9 9e8 Iugad IR &1 9894
B

A 3R R T el § 3R R, A B Tl AR &

A 3R R IFT TG & 3IR R, A F1 el TR TS &

ATEI g AfFTR TS TR

AR el B APAR TR B

ol gl 1

Options :
920906105961. 1



920906105962. 2
920906105963. 3
920906105964. 4

Question Number : 92 Question Id : 92090626817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A: The environmental changes during glacial period led to
emergence of various forms of flora, fauna as well as Acheulian stone age
culture.

Reason R: The glacial period, also known as the Glacial Age, was a period of
repeated advances and retreats of large ice sheets.

In the light of the above statements, choose the correct answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. Alis correct but R is not correct
4

. Ais not correct but R is correct

Options :

920906105965. 1
920906105966. 2
920906105967. 3
920906105968. 4

Question Number : 92 Question Id : 92090626817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e & ®YA AU 71 §: U AfUFHUA (Assertion A) & $U ¥ faifad g dl g¥RI 39D
Rl (Reason R}%Wﬁ;

3@y A feart g & vafavuli uRad=l 3 uredl, uxgsfi 9yt vegferm= umm
i H3pid & faftrd $di & snfauia &1 sprRR faarl

HRUIR: fRAF g & 9% &1 g7 o Sl il 81 98 [Ahr &1 RIghl a4l 3s
0% $ ATe3 & S{UEI0] B aiY g

JURIR HYA & 3fTdiw H, i AU 7 fah el # 9 el Iuga I o1 994
Hife:

A R R HA § 3R R, A BT Y&l ARBN &

A 3R R GHT 39T § 3R R, A B ¥el oS &

AT g AR AT &

AET EAPIRITE

oW oo

Options :

920906105965. 1
920906105966. 2
920906105967. 3
920906105968. 4

Question Number : 93 Question Id : 92090626818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following tool fabrication techniques from simple to compound
in chronological order:

A. Retouching
B. Cylinder Hammer
C. Direct Percussion
D. Pressure Flaking
E. Grinding Polishing
Choose the correct answer from the options given below:
1. ABCDE
2. EEADBC
3. CEDAE
4 EBCBA

Options :



920906105969. 1
920906105970. 2
920906105971. 3
920906105972. 4

Question Number : 93 Question Id : 92090626818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafifed SR §9H &1 de-iie] B 39d1 I3 I Yo Udhid & SMUYR TR
HIAHHAFTR AU P |

A. TIEH0]

B. dTAIPR guial

C. Wch& Srard

D. UER w1

E. ferge g gffers &=

12 feu e faseul # 9 Had Iuged IR &1 99 Difelt:
ABCDE

E ADBC

C,B, D AE

E B CBA

e e el

Options :

920906105969. 1
920906105970. 2
920906105971. 3
920906105972. 4

Question Number : 94 Question Id : 92090626819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following archaeoclogical sites on the basis of age of artifacts
found at each site, starting from the oldest to the most recent:

A. Brahmagiri
B. Belan Valley
C. Langhnaj
D. Adamgarh
E. Sohan
Choose the correct answer from the options given below:
1. B,CAD,E
2. EEB D, CA
3. BACDE
4. A/EBD,C

Options :

920906105973. 1
920906105974. 2
920906105975. 3
920906105976. 4

Question Number : 94 Question Id : 92090626819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e RIdETaT ®idl S Ude T IR 91 T R $ S & YR W)
RIG | TdH-aH & HHFHR oaiyd S

. SR

. S g1et

NIPEIE

HTCHITG

E. Wlg

12 fau 0 fasedl @ § Had Iuged IR &1 994 DifolT:
B,C,A D,E

EBDCA

B,A CD,E

A EBD,C

m =

2 N

e W

Options :
920906105973. 1



920906105974. 2
920906105975. 3
920906105976. 4

Question Number : 95 Question Id : 92090626820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement | : The upper Palaeolithic is characterized by the emergence of
art, population growth and new invention such as bow and arrow.

Statement Il : The period of cultural history known as upper Palaeolithic
dates from 40,000 years ago to about 14,000 years ago.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4

Statement | is incorrect but Statement |l is correct

Options :

920906105977. 1
920906105978. 2
920906105979. 3
920906105980. 4

Question Number : 95 Question Id : 92090626820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRIaFEReE
HYA |: T RIUNUGTA § Hall, S dfe aul Y=I8-a707 S -7 SR
& offaufa $i fa<mar ur 73 |
YA |I: I RIUNIUGHTA & Hipiad 3ol dI 3faft] 40,000 T gd I T
14,000 98 Ud 0 g |
SWRIF $YA & 3l H, Ad iU 1 fabedi & 9 981 I &1 994 i

1. ®YF1 3R 11 ST Tl §

2. YA | 3R 11 T TAd §

3. YA Wl g, Afh HYA 11 TTed §

4. HYF1TAd 8, Afh HYF 1| TET &

Options :

920906105977. 1
920906105978. 2
920906105979. 3
920906105980. 4

Question Number : 96 Question Id : 92090626821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |: Bhimbetka is the name of a cluster of a large number of caves
and rock-shelters in the Raisen district of Madhya Pradesh

Statement ll: In the caves and rock-shelters of Bhimbetka evidences of rice
cultivation have been found

In the light of the above statements, choose the correct answer from the
options given below:

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement 1l is false
4. Statement | is false but Statement Il is true

Options :

920906105981. 1

920906105982. 2

920906105983. 3
920906105984. 4



Question Number : 96 Question Id : 92090626821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRIFERTE:
DY |; H USRI & TIHA fore] H 931 Heam | qhrsfl quT Fer=l 31yl & g
&1 41 Hindes1 8|
HY |1 YiAaeHT B TH1s T ger nydl 7 o $1 Wit & T8y Ul T §|
JRIT HYF & 3did |, A 3T T fawedl & 9 T IR &1 994 Sifot:
1. PYF IR IGATI T §
2. BYA | 3R I S T &
3. PYA | I g, Alh- HUA || T
4. HYF | 3T g, AT YA 11 T 8

Options :

920906105981. 1
920906105982. 2
920906105983. 3
920906105984. 4

Question Number : 97 Question Id : 92090626822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are the major types of Megalith?
A. Menhir
B. Hand-Axe
C. Dolmen
D, Cist
E. Chopper
Choose the correct answer from the options given below:

1. C, D and E only

2. A BandConly

3. A Cand D only

4. A BandE only

Options :
920906105985. 1



920906105986. 2
920906105987. 3
920906105988. 4

Question Number : 97 Question Id : 92090626822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafifad § 9 9= UeR & HemH $H 3 82
A, SreieH wY
B. - PR
C. WSSl gd
D. e
E. e’ /I
412 fau U fapedl # 9 v€d IugeEd IR P 99 Difel:
1. HAAC, D 3IRE
2. ®ad A, B3R C
3. ®dd A, C3RD
4. H9d A BIHRE

Options :

920906105985. 1
920906105986. 2
920906105987. 3
920906105988. 4

Question Number : 98 Question Id : 92090626823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are the terms used to refer to Geological epoch?
A. Eocene
B. Cretaceous
C. Ordovician
D. Holocene
Choose the most appropriate answer from the options given below:
1. Aand B only
2. Aand Conly
3. Band D only
4. A and D only

Options :

920906105989. 1
920906105990. 2
920906105991. 3
920906105992. 4

Question Number : 98 Question Id : 92090626823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrofafEa 7 ¥ {62 yamf e g & de Ff IugeT & @ o 872
A. SITGE g
B. RICTEH
C. 3RSIfawgH
D. 3ff¥a g
12 fau e faseul @ 9 9a8 Iuged JTR &1 994 HIfoT:
1. $ad A 3R B
2. &ad ASIRC
3. ®dd A3RD
4. &dd A B, C3RD

Options :

920906105989. 1
920906105990. 2
920906105991. 3
920906105992. 4



Question Number : 99 Question Id : 92090626824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

LIST I LIST Il
A. Kalibangan l. Rajasthan
B. Harappa Il. Haryana
C. Lothal Ill.Gujarat
D. Banwali IV.Pakistan

1. A-l, B-ll, C-Iv, D-lll
2. A-Ill, B-Iv, C-|, D-ll
3. A-l, B-IV, C-lil, D-Il
4. A-ll, B-I, C-lll, D-IV

Options :

920906105993. 1
920906105994. 2
920906105995. 3
920906105996. 4

Question Number : 99 Question Id : 92090626824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt | BT 11 ¥ e S

K&l g

A, [BTeltETE| | RIS
B. [ | 1. [gfwmmon
C. [y | . fIoRTd
D. [@-ddit IU_[UTI%T?\‘FIH
A-1, B-II, C-IV, D-lI
A-1Il, B-IV, C-I, D-1I
A-1, B-IV, C-1ll, D-1I
A-1I, B, C-1lI, D-IV

-l O

Options :
920906105993. 1



920906105994. 2
920906105995. 3
920906105996. 4

Question Number : 100 Question Id : 92090626825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

LIST I LIST Il
A. Palaeolithic l. Daojali Hading
B. Mesolithic Il. Langhnaj
C. Neolithic IIL.Ahar

D. Chalcolithic V. Attirampakkam
1. A-l, B-ll, C-1V, D-lll
2. A-IV, B-ll, C-1, D-ll
3. A-IV, B-ll, C-ll1, D-I
4. A-IV, B-1ll, C-1l, D-I

Options :

920906105997. 1
920906105998. 2
920906105999. 3
920906106000. 4

Question Number : 100 Question Id : 92090626825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | 1 g 1 e Sifse

| Sl
A. [ORT9TST0 BTc | 1. [cTafelell gigT

HEAUTHTH el 11, [T

B.
C. [1d 9THTOT Ted| 1. (el
D.

ATHUER QHIA| V. [SERAUGDH

A-l, B-lI, C-1v, D-1lI
A-1V, B-ll, C-I, D-Il
A-1V, B-ll, C-ll, D-
A-1V, B-1II, C-1I, D-I

-l

Options :

920906105997. 1
920906105998. 2
920906105999. 3
920906106000. 4



